REZB~KFERFETORATEOHY—H

SZRER~ZRIET

B(RARITHEZHEREMETK D) 1,000,000 M | x 11 & | = 1,000,000| M
HET (RAITHEZ DRI KD 500,000 F | x 11 & | = 500,000 M
BHM 10,000| A | x 6| ®MB | = 60,000 M
= 5,000| @ | x 100 @ | = 50,000 M
BT ANHEE 18,000 F | x 1 = 18,000 F
BT A FAHRE 20,000| M | x 2| X% | = 40,000| M
E ALK HEE 17,000| M | x 1| K% | = 17,000| M
FAIL K HIFE 40,000 A | x 2| X% | = 80,000 M
FAIL K (EFEEEER) HFE B x RFE | = !
REE GRIERZER) 30,000| M | x 2| | = 60,000| M
BaEGRIERZR) 10,000 M | x 4 B | = 40,000| M
&t 1,865,000| M
AR ~ FIEE
AZE GERRE) 282,000 F | x 1| K% | = 282,000| M
AZE (GBYLHI) 250,000 F | x 1| K% | = 250,000| M
FREZH(BEHE. ALE. hAFHEHLGLE) 250,000 M | x 11 B | = 250,000| M
RE . RE 250,000| M | x = 250,000| M
5oL M 50,000| M | x 11 @ | = 50,000 M
REHERELGESD) 535,800 M | x 1| & | = 535800| M
£EE(RE.BEBLLE) 120,000 M | x 12| »A | = 1,440,000| M
NEEEE 3,057,800 M
2fFE~ZFF
EEEHH 120,000| M | x 11 @ | = 120,000 M
R (BE. L&, hAFHH) M| x m | = A
5oL E A g | x E | = M
BEEHNGREGEED) 535,800 M | x 3| & | = 1,607,400 M
£ER 120,000| M | x 36| nA | = 4,320,000| M
 ERZMIERNOBE. BIHDSLEILZENSL, axt s.047.400| m
F XU NADEENIF>TREITLRLATREESHY . T




